ERE3 XA R B ARRIE AL L FNSEAR 43 45 6] R
|

b
‘ fix)=ax+—(a=0.b>0) | b
x fixi =+ — (a<0.b=0)
| b B x
%’lx:’f}’:fr_’x)=m*—52@(éiﬂ'[2 Haox=—) | B B
x x y Bx=0=fn)=- Cavt—)s-2ab (K AR Har=—)

i b
Jikl %’lx:i@:\.’{x}=—{(a"7}j—2.¢!£ ”\ b b
| % l Yr<lofx)=a+—= lﬁ{ii x=-_f—)
N s = b b | x a
| BRRLEBRARRL ([ —2Jab) B (- [ — 2fap) ; B 5
| 2 e B || mussmasEs ( W;ﬂﬁE)B(—/:gﬁJ)
A s | T
o “x 0 *
B 4
\ N
|

PO IR §517~E—W3§1u5':}§tt1’iu QEHI—RR R B, 2N f(x) =ax +Q
Y ab ESE, f(x) =ax +75’\]!%EEEE%)/ =ax SWHZL y =71"Lﬂﬁﬁ FEREEAR E).  &FR T A

@w”tmmmﬁ@wnmﬁﬁ%mmﬁ=ngEﬁm-gﬁm@b
(wlxaﬂ@ﬁﬂ@:ﬁ_w+uow%—wxam;&ﬁ,iammﬁma.

[ g 47] M & 17 x2+12axﬁ.xe(0,%],]:'féﬁ&i, Bp x+lzaz§.xe(0,%],]:'féﬁ&i, iy’ig(x)=x+l,
x

X

egx)=22 Hx=18, gx)=2, ﬁ?’_xe(O,%] F)’TVXg(x)min=g(%)=§,aS§.

[45]2) R x* —ax+4=07EX A [01) WA , R a FBUETLH.
[iar) HBAEZ: x=08, £M; x*+4=ax £xe(0,]] WA M, BF: x+i=az§xe(0,l]iéﬁﬂi’fﬁ?€
x

H, iig(x)=x+i, W eg(x)>5 HFx=18, g(x)=5, ¥a>5
x

i R 4

I ERF 5<x<l, A% x> +ax+6-a>0 HWRL, KREE a HHETE .
2. BHIA%ER X —(a+1)x+a<0.

(D) HEAERE (1, 3D BAM, KREE o RIUETE

(2) HAERE (1, 3) BEMAL, RSEE o MEUMETE .

3. BRIRE f(x)=3x" +2(k—1)x+k+5 (keR).

(D EG ke(-11), A%R f(x) <0, K x BHUHETEH

(2) HREAEIXIE (0, 2) WAHER, Kk FHUETEH.
4. CHla ZLEL B f(x)=2ax” +2x-3—a. WREE y = f(x) E£XF[-L1] EAEEL, RKa WRETGE
.
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